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CBT Sample assessment model answers

Elements of costing (ELCO)

Sample assessment 1

Task 1 (8 marks)
[image: image2.png]Costing uses a number of techniques to assist management.

(a) Indicate whether the following statements are true or false by ticking the relevant boxes in the table.
below. (4 marks)

Apositive cost variance means actual costs are less
than budgeted costs.

Wages of production workers are 3 direct cost

SIS

Variable costs increase in total as outputincreases.

“The piecework method for labour payment ensures a
setwage each week for employees





[image: image3.png]The table below lists some of the characteristics of financial accounting and cost accounting.

(b) Indicate the characteristics for each system by ticking the relevant boxes in the table below. (4 marks)

‘The statements of this system are of interest mainly
tothe managers of a business.

This system uses techniques to costinventory issues
to production

“This system uses techniques to arrive at a unit cost
fora product or service.

[SHS ST

‘The statements of this system are used as a
basis to calculate the tax iabilty of a business.

End of task





Task 2 (8 marks)
[image: image4.png]Chippy Ltd is in business as a furniture maker.

(@) Classity the following costs it incurred by behaviour (fixed, variable or semi.variable overhead) by
ticking the relevant boxes in the table below. (4 marks)

Wood purchased for production.
Wages o carpenters paid on &

piecework basis. v
Workshop healing costs consisiing

of afxed and usage charge.

‘Salary of workshop manager.

MakeWell Ltd is in business as a pharmacist, manufacturing and selling drugs.

(b) Classity the following costs incurred by nature (direct or indirect) by ticking the relevant boxes in the
table below. (4 marks)

Insurance of premises.

‘Salaries of pharmacists who make the Grugs.

Training course for pharmacy assistants.

Drugs purchasedfor resale

End of task





Task 3 (6 marks)
[image: image5.png]HardCast Ltd, a steel manufacturer, has setup an investment centre for an investment project itis
undertaking over a period of years. It uses an alpha coding system for fs investments, revenues and costs
andthen dlassifies them numerically as outined in the firstfour columns of the table below.

Code the following transactions for the project, using the table below.
Each transaction should have a six character code. 6 marks)

Activity Code  Nature ofc Transaction Code

Inestments vs |Btemal tor [[ronorepurnaseaor | oo
ntrmal P T P

Revenues RS |Uksales o |[Reparscseamanng |,
S e e < uszns

Costs crs  |Material Pl
Labour 545 AS;I:: gsleel osun | o
Overheads o

End of task




Task 4 (12 marks)

[image: image6.png](a) Identify the type of cost behaviour (fixed, variable or semi-variable) described in each statement by
ticking the relevant boxes in the table below. 6 marks)

AL9,000 units, this costis £28,000 and at 12,000 units,
itis £34,000

'AL5,000 units, this costis £5.20 per unit and at 8,000
units,itis £3.25 per unit.

‘At11,000 units, this costis £49,500 and at 15,000
units, this costis £67,500

(b) Complete the table below by inserting all costs for the activity levels of 3,000 and 7,000. 6 marks)

Variable cost (£) 9000 21000
Fixed cost £) 12000 12000
Total cost (£) 21000 22500 27,000 33000

End of task




[image: image7.png](b) Complete the table below by inserting all costs for the activity levels of 3,000 and 7,000. (6 marks)

units nits

Variable cost (£) 9,000 21,000
Fired cost (£) 12,000
Total cost (£) 21,000

End of task






Task 5 (12 marks)

[image: image8.png](a) Complete the table below to show the possible overhead absorption rates that HardCast Ltd could
‘use. The absorption rates should be calculated to two decimal places.

3 marks)

Overheads (£) 300000 300000 300000

Activity 20000 25000 120000

‘Absorption rate (£) 15.00 1200 250




[image: image9.png](b) Complete the table below (to two decimal places) to calculate the total unit cost, using the three
‘overhead absorption rates you have calculated in (a). 9 marks)

Waterial 2000 2000 2000
Labour 500 500 500
Directcost 200 200 200
Overheads 300 300 250
Total unit cost 2600 2600 2750

End of task




Task 6 (12 marks)

[image: image10.png]Eastnite's managers wish to know how fixed costs, variable costs, total costs and unit cost behave at different
levels of production.

You are told that fixed costs are £35,000 and variable costs are £4.50 per unit

‘Complete the table below. Unit costs should be calculated to two decimal places. (12 marks)

4000 36,000 18,000 54,000 1350
6000 36,000 27,000 63,000 1050
10,000 36,000 45,000 81,000 810

End of task




Task 7 (14 marks)

[image: image11.png](a) Reorder the following costs into a manufacturing account format for the year ended 31 December.
You should drag each item in the list to the correct position on the right-hand side.

Note that where costs are not given you will need to determine these in part (b). (9 marks)
[opening inventon of raw matera 2500
[Purchase of raw materia Fse.000]
[Gosing inventoy of raw material 0]
[DIREGT HATERIAL UsED ]
Directiabour Fs0200]
[DiRecT cost ]
[Hanutacturng overneass 129700
[MANURAGTURING GosT ]
[opering mienton otwork mproaress___£29000]
[Glsing inventony ot work m progress F1600]
[COST OF GOODS WANUFAGTURED ]
[Opening inventon o fnished goods 7aa00]
[Clsing inventory of frshed goods F71700]
[cosT oF GooDs 501 ]





Task 7, continued

[image: image12.png](b) Determine and enter the cost totals below, using your answer from part () to help you. (5 marks)

Direct material used £ [a7a00
Direct cost £ [138600
Manufacturing cost £ [266300
Cost of goods manufactured £ [273700
Costof goods sold £ [275400

End of task




Task 8 (9 marks)

[image: image13.png]You are told the opening inventory of a single raw material in the stores is 1,800 units at£4.00 per unit.
During the month, 2,100 units 3t £4.10 per unit are received and the following week 2,600 units are issued.

() Identify the valuation method by dragging the statements into the correct column below. (6 marks)

[The closing inventory is

valued at £5,330,

[The issue of 2,600 units
is costed at£10,610

[The closing inventory is
valued at£5,270.

Statements:

(b) Identify whether the following statements are true o false. (3 marks)

AVCO costs the issue of 2,600 units at £10,540

LIFOvalues the closing inventory at £5,200.

FIFO values the closing inventory at £5,200.

End of task





Task 9 (12 marks)

[image: image14.png]Complete the table below by entering the cost of issues and closing inventory values. (12 marks)

FIFO 8545 5000
LFO 8795 4750
Aveo 8636 4909

End of task




Task 10 (8 marks)

[image: image15.png]An employee is paid £15 an hour and is expected to make 20 units an hour.
For any excess production, the employee will be paid a bonus of 25p per unit

(a) Identify whether the following statements are true or false by ticking the relevant boxes in the table
below. 6 marks)

During a 36-hour week the employee produces.
800 units and earms total pay of £580.

'During a 38-hour week the emploee produces,
880 units and eams a bonus of £30.

'During a 39-hour week the emploee produces,
1,000 units and eams total pay of £640.





[image: image16.png]Amplefort Ltd pays a time-rate of £13.50 per hour for a 38-hour week.
Any employee working in excess of 38 hours per week s paid an overtime rate of £20 50 per hour.

(b) Calculate the basic wage, overtime and gross wage for the week for the two employees in the table
below.

Note: if no overtime is paid, you should enter 0 as the overtime for that employee.

S Albertini

513 P EN

40|
JAsheet a4 513 123 636

End of task

(2 marks)




Task 11 (8 marks)

[image: image17.png]Elbright Ltd wishes to pay its employees using either the time-rate method with bonus, or the piecework
method. The time-rate used is £11.25 per hour and an employee is expected to produce 12 unils per hour,
‘and anything over this paid a bonus of £0.60 per unit The piecework payment rate is £0.90 per unit.

Complete the table below for the two methods, showing the gross wage for the time-rate with bonus and
the piecework wage.
Note: if no bonus is paid, you should enter 0 as the bonus for that employee in the table. 8 marks)

a4 520 495 0 495 a8

End of task




Task 12 (9 marks)

[image: image18.png]Anumber of statements about budgeting are set out in the table below.

() Identify whether the following statements are true o false.

Ifbudgeted sales are 5,000 units at£11.50 per unit
‘and actual sales are £59,000, the sales variance is
adverse.

"Afavourable costvariance occurs when an aciual cost
0f£4,800 is compared to a budgeted cost of £12 per
unitfor a budgeted output of 395 units.

Fase Rl

‘Avariance arises from a comparison of budgsted
costs from a past period with budgeted costs of a
future period.

Fase Rl

Ifactual material costs are the same as budgeted
costs for materials then no variance arises.

[True

(4 marks)




[image: image19.png]Martial has produced a performance report detailing budgeted and actual costs for last month.

(b) Inthe table below, determine whether the variance for each cost type s adverse or favourable. (5 marks)

Direct material 93.750)
Directlabour 74.280)
Producion overheads. 94.650)
Adminisiaton

overheads 46,360
Selling and GisTButon

Seling an: 69,100)

End of task





Task 13 (8 marks)

[image: image20.png]‘The manager of Draycott Ltd requires a performance report detailing budgeted data, actual data and
variances for ast month.

Budgeted data for the month included:

Sales 6800 units 1 £60 per unit
Waterial 5100 Klos at£25 per kilo
Labour 4850 hours at £30 per hour
Overheads __|£107.000

In the table below, insert the budget amount for each item, calculate each variance and then determine
‘whether itis adverse or favourable. 8 marks)

Sales 408000 412,400 4400
Material 127500 134700| 7200 [Averse ﬂ
Labour 145500 142.700| 2800 [Favourable

Overheads 107000 113.200| 6200

i

End of task





Task 14 (6 marks)

[image: image21.png]Calculate the production cost variances and the variances as a percentage of budget (rounded to two
decimal places).
‘You are not required to show whether the variances are adverse or favourable. Do not insert a minus sign
or brackets.

Direct material 114,000| 3200 281
Direct labour 119,000] 5600 am
Production overheads | 125,000 2100 168

6 marks)




Task 15 (8 marks)

[image: image22.png]Lastmonth's performance report for Francom Ltd is summarised in the table below. Any variance in
excess of 10% of budget is deemed to be significant and should be reported to the relevant managers for
review and appropriate action.

(a) Examine the variances in the table and then determine whether they are significant or not by making
a selection in the relevant column below. (4 marks)

Direct material
Depariment A [Not significant [52

Diredt material —
Department 8. lot significant

Direct labour
Department A ,740 Significant
Direct labour
Department8. [Significant




[image: image23.png](b) Identify whether the following statements are true or false.

“The variance for the Direct Material cost
of Department A should be reported to the
purchasing manager.

“The variance for the Direct Labour cost of

Department A should be reportedto the [Faise =]

production manager for Department B.

“The variance for the Direct Labour cost

of Department B should be reportedtothe  [False, =]

sales manager.

“The variance for the Direct Material cost

of Department B should be reportedtothe  [False,
production manager for Department B.

End of task

(4 marks)
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